CHEMISTRY

BOOKS - FULL MARKS CHEMISTRY (TAMIL
ENGLISH)

SOLUTIONS

Example Problems Solved

1. What volume of 4M HCl and 2M HCI should be mixed

to get 500 mL of 2.5 M H(C' ?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_COOknpKUElzr

2. 0.24g of a gas dissolves in 1 L of water at 1.5 atm
pressure. Calculate the amount of dissolved gas when
the pressure is raised to 6.0 atm at constant

temperature.

° Watch Video Solution

3. An aqueous solution of 2 % nonvolatile solute exerts
a pressure of 1. 004 bar at the boiling point of the
solvent. What is the molar mass of the solute when P

is 1.013 bar ?

° Watch Video Solution



https://dl.doubtnut.com/l/_p9cZcn6V6rHs
https://dl.doubtnut.com/l/_kgOw4gaE0tEo
https://dl.doubtnut.com/l/_AMmiSFkOQ9Ul

4. At 400 K 1.5g of an unknown substance is dissolved
in solvent and the solution is made to 1.5L. Its
osmotic pressure is found to be 0.3 bar. Calculate the

molar mass of the unknown substance.

o Watch Video Solution

5. Ethylene glycol (CyHgO;) can be used as an
antifreeze in the radiator of a car. Calculate the
temperature when ice will begin to separate from a
mixture with 20 mass percent of glycol in water used in
the car radiator. K for water = 1.86Kkgmol ! and

molar mass of ethylene glycol is 62gmol 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_AMmiSFkOQ9Ul
https://dl.doubtnut.com/l/_AS2JoXPzJ6x3

6. At 400 K 1.5g of an unknown substance is dissolved
in solvent and the solution is made to 1.5L. Its
osmotic pressure is found to be 0.3 bar. Calculate the

molar mass of the unknown substance.

° Watch Video Solution

7. The depression in freezing point is 0.24 K obtained
by dissolving 1gNaCl in 200 g water. Calculate van't-

Hoff factor. The molar depression constant is

1.86Kkgmol ~*.

° Watch Video Solution



https://dl.doubtnut.com/l/_AS2JoXPzJ6x3
https://dl.doubtnut.com/l/_u34jM9pZ9GGU
https://dl.doubtnut.com/l/_678REZy4mlFF

Textual Evaluation Soved Multiple Choice Questions

1. The molality of a solution containing 1.8g of glucose

dissolved in 250g of water is ...........

A.'0.2m

B. 0.01m

C.0.02m

D. 0.04m

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_rzwBHgsZOYos

2. Which of the following concentration terms is/are

independent of temperature ?

A. molality

B. molarity

C. mole fraction

D.aand c

Answer: A::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_CY4BXtqN2LqY

3. Stomach acid, a dilute solution of HCl can be

neutralised by reaction with aluminig hydroxide

Al(OH), + 3HCl(aq) — AlCl3 + 3H,0
How many milliliters of 0.1MAI(OH), solution are
needed to neutralise 21 mL of 0.1MHCI ?

A.1) 14 mL

B.2) 7 mL

C.3)21TmL

D. 4) none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_EDTbPhT9qTjx

4. The partial pressure of nitrogen in air of 0.76 atm
and its Henry's law constant is 7.6 x 10* atm at 300K.
What is the mole fraction of nitrogen gas in the
solution obtained when air is bubbled through water
at 300K ?

Alx10*

B.1x 10 °

C.2x10°°

D.1 x 10°°

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_v8m0iIMI1F8i

5. The Henry's law constant for the solubility of
Nitrogen gas in water at 350K is 8 x 10* atm. The
mole fraction of nitrogen in air is 0.5.The number of
moles of Nitrogen from air dissolved in 10 moles of
water at 350 K and 4 atm pressure is

Adx10*

B.4 x 10

C.2 x 102

D.2.5 x 104

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_CfFaSOX3ZK0N

6. Which of the following is incorrect for ideal solution

?
B.2) AV, =0
C. 3) AP = Pobsetved - PCalculated by raoults law — 0
D. 4) AGmisz

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hQAKz1o3jtma

7. Which one of the following statements has truth

value F?

A N,

B. He

C.CO,

D. H,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rBF7Awa0MoU3

8. P, and P, are the vapour pressures of pure liquid
components , 1 and 2 respectively of an ideal binary
solution if x; represents the mole Traction of

component 1, and the total pressure of the solutions
formed by 1 and 2 will be

A-pl —|— Xl(P2 — Pl)

B.P2 - Jil(PQ + Pl)

C. Pl - %2(P1 - P2)

D.P1+$1(P1—P2)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_yseOrhyUTkCt

9. What is meant by osmotic regulation?

A.m™=nRT

B.mV = nRT

C.wRT =n

D. none of these

Answer: B

o Watch Video Solution

10. Which one of the following binary liquid mixtures

exhibits positive deviation from Raoults law?


https://dl.doubtnut.com/l/_YKPiGLEFvuiW
https://dl.doubtnut.com/l/_T6M0TZ1PTVjh

A. Acetone + chloroform

B. Water + nitric acid

C. HCl + water

D. ethanol + water

Answer: D

o Watch Video Solution

11. The Henry's law constant for two gases A and B are x
and y respectively.The ratio of mole fractions of A to B
is 0.2 The ratio of mole fraction of B and A dissolved in

water will be


https://dl.doubtnut.com/l/_T6M0TZ1PTVjh
https://dl.doubtnut.com/l/_lEmXcgDmINcQ
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Answer: D

o Watch Video Solution

12. At 100°C' the vapour pressure of a solution
containing 6.5 g a solute in 100 g water is 732mm.If

K3 = 0.52, the boiling point of this solution will be

A.102°C


https://dl.doubtnut.com/l/_lEmXcgDmINcQ
https://dl.doubtnut.com/l/_nkZbmqMH0197

B.100° C

c.101°C

D.100.52°C

Answer: C

o Watch Video Solution

13. According to Raoults law, the relative lowering of

vapour pressure for a solution is equal to ..

A. 1) mole fraction of solvent

B. 2) mole fraction of solute

C. 3) mole fraction of solute


https://dl.doubtnut.com/l/_nkZbmqMH0197
https://dl.doubtnut.com/l/_IMRmMLnzttT8

D. 4) number of moles of solvent

Answer: B

° Watch Video Solution

14. At same temperature , which pair of the following
solutions are Isotonic?

A.0.2MBaCly and 0.2M ures

B. 0.1M glucose and 0.2 M urea

C.0.1MNaCl and 0.1M K550,

D.0.1MBa(NOs), and 0.1MNa,SO,


https://dl.doubtnut.com/l/_IMRmMLnzttT8
https://dl.doubtnut.com/l/_FR0hTuxjXTyJ

Answer: D

° Watch Video Solution

15. The empirical formula of a non-electrolyte (X) is
CH,0. A solution containing six gram of X exert the
same osmotic pressure as that of 0.025M. glucose
solution at the same temperature. The molecular
formula of X is ...

A.CyH,0,

B. CgHwa

C.C4HgOy

D.CH,0


https://dl.doubtnut.com/l/_FR0hTuxjXTyJ
https://dl.doubtnut.com/l/_TgIW00DQB5bb

Answer: B

° Watch Video Solution

16. The Ky for the solution of oxygen dissolved in
water is 4 x 10%*atm at a given temperature . If the
partial pressure of oxygen in air is 0.4 atm the mole
fraction of oxygen in solution is

A 4.6 x 10°

B.1.6 x 10°

C.1x10°°

D.1 x 10°


https://dl.doubtnut.com/l/_TgIW00DQB5bb
https://dl.doubtnut.com/l/_3psbis8gnScF

Answer: C

° Watch Video Solution

17. Normality of 1.25 M sulphuric acid is

A.1.25N

B.3.75N

C.2.5N

D.2.25N

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3psbis8gnScF
https://dl.doubtnut.com/l/_rFd0CDyCiJCX

18. Two liquids X and Y on mixing gives a warm solution.

The solution is

A.1) ideal

B.2) non-ideal and shows positive deviation from

Raoults law

C.3) ideal and shows negative deviation from

Raoults Law

D. 4) non-ideal and shows negative deviations from

Raoults Law

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qk2UUxLGeCtO

19. The relative lowering of vapour pressure of a sugar
solution in water is 3.5 x 102 The mole fraction of
water in that solution is

A.0.0035

B.0.35

C.0.0035 /18

D. 0.9965

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qk2UUxLGeCtO
https://dl.doubtnut.com/l/_HIsKmuP6VlTu

20. The mass of a non-volatile solute (molar mass 80 g
mol ~! ) which should be dissolved in 92g of toluene to
reduce its vapour pressure to 90 %

A.10g

B. 20g

C.9.2¢g

D. 8.89¢g

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JF5a0kGNP6Tg

21. For a solution the plot of osmotic pressure ()
verses the concentration (c.inmolL_1 ) gives a straight
line with slope 310 R where 'R' is the gas constant The

temperature at which osmotic pressure measured is
A.310 x 0.082K

B.310°C

C.37°C

310

> 0.082 K

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_VEwOOBzUoGIy
https://dl.doubtnut.com/l/_CU0czjJdPWCO

22.200 ml of an aqueous solution of a protein contains
1.26 g of protein. At 300 K, the osmotic pressure of this
solution is found to be 2.52 x 10~ *® bar.The molar

mass of protein will be

(R = 0.083Lmol 'K )

A. 62.22 kg mol
B. 12444gmol ~*
C. 300gmol ~*

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CU0czjJdPWCO
https://dl.doubtnut.com/l/_xefkAt2CVBXy

23. The Van't Hoff factor (i) for a dilute aqueous

solution of the strong elecrolyte barium hydroxide is

A.O

B.1

C.2

D.3

Answer: B

o Watch Video Solution

24. What is the molality of al0 % W/W aqueous

sodium hydroxide solution?


https://dl.doubtnut.com/l/_xefkAt2CVBXy
https://dl.doubtnut.com/l/_L9yAoEFWJie3

A 2.778

B.2.5

C.10

D.0.4

Answer: B

° Watch Video Solution

25. The correct equation for the degree of an
associating solute, 'n' molecules of which undergoes

association in solution, is ...

n(i — 1)

A1l =
)a n—1


https://dl.doubtnut.com/l/_L9yAoEFWJie3
https://dl.doubtnut.com/l/_ivqbm8mnQgDe

n(l — 1)

B.2) a = (n— 1)
I—-1
C.3)Oé: %
D.4)a:n(1—_2:)
n(l — 1)

Answer: C

o Watch Video Solution

26. which of the following aqueous solution has the
highest bolling point?

A.0.1MKNO;

B.0.1M NasPO,

C.0. ].MBCLCZQ


https://dl.doubtnut.com/l/_ivqbm8mnQgDe
https://dl.doubtnut.com/l/_yEsWYrLOReKK

D.0.1M K550,

Answer: A

° Watch Video Solution

27. The freezing point depression constant for water is
1.86° Kgmmol ~'. If 5gNa;S0, is dissolved in 45 g
water, the depression in freezing point is 3.64°C. The
van't Hoff factor for Nay SOy, is ...

A. 2.50

B.2.63

C.3.64


https://dl.doubtnut.com/l/_yEsWYrLOReKK
https://dl.doubtnut.com/l/_FMvaVRkkZEe3

D. 5.50

Answer: A

° Watch Video Solution

28. Equimolar aqueous solutions of NaCl and KCI are
prepared. If the freezing point of NaCl is —2°C, the

freezing point of KCl solution in expected to be ...

A1) —2°C
B.2) —4°C
c.3)—1°C

D.4)0°C


https://dl.doubtnut.com/l/_FMvaVRkkZEe3
https://dl.doubtnut.com/l/_XVMnBqeP0CN2

Answer: A

° Watch Video Solution

29. Phenol dismerises in benzene having Van¢t Hoff

factor 0.54 What is the degree of association?

A. 0. 46

B. 92

C.46

D.0.92

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XVMnBqeP0CN2
https://dl.doubtnut.com/l/_Azgi96GIz6HF

30. Assertion : An ideal solution obeys Raoults Law

Reason: In an ideal solution , solvent-solvent as well as

solute-solute interactins are similar to solute-solvent

interactions.

A. both assertion and reason are true and reason is

the correct explanation of assertion

B. both assertion and reason are true but reason is

not the correct explanation of assertion

C. assertion is true but reason is false

D. both assertion and reason are false


https://dl.doubtnut.com/l/_Azgi96GIz6HF
https://dl.doubtnut.com/l/_ZGaUo5U1Q1Vy

Answer: A

° Watch Video Solution

Textual Evaluation Soved Short Answer Type Question

1. Define (i) Molality (ii) Normality

° Watch Video Solution

2. What is a vapour pressure of liquid ? What is relative

lowering of vapour pressure ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZGaUo5U1Q1Vy
https://dl.doubtnut.com/l/_ka4lvFMYx1rU
https://dl.doubtnut.com/l/_4QsTatg4hYV2

3. State and explain Henry's law

° Watch Video Solution

4. State Raoult law and obtain expression for lowering
of vapour pressure when nonvolatile solute is dissolved

in solvent.

o Watch Video Solution

5. What is molal depression constant? Does it depend

on nature of the solute ?

[ o WMWiabk .\t daa CcAl.iktaa ]


https://dl.doubtnut.com/l/_4QsTatg4hYV2
https://dl.doubtnut.com/l/_huH14WkOCoRH
https://dl.doubtnut.com/l/_kbPm3I1dpz6C
https://dl.doubtnut.com/l/_RCoXXLRQTqxI

YVailill VIUCU JVIULIVII )

6. What is osmosis?

° Watch Video Solution

7. What are isotonic solutions?

o Watch Video Solution

Textual Evaluation Soved Long Answer Questions

1. You provided with a solid 'A' and three solutions of A

dissolved in water- one saturated, one unsaturated,


https://dl.doubtnut.com/l/_RCoXXLRQTqxI
https://dl.doubtnut.com/l/_fO3gZR6t483I
https://dl.doubtnut.com/l/_66CIEARwK0eK
https://dl.doubtnut.com/l/_QmGoCl6u2b51

and one super saturated. How would you determine

each solution ?

o Watch Video Solution

2. Explain the effect of pressure on the solubility.

o Watch Video Solution

3. A sample of 12 M concentrated hydrochloric acid has

a density 1.2 gL~ ! Calculated the molality.

o Watch Video Solution



https://dl.doubtnut.com/l/_QmGoCl6u2b51
https://dl.doubtnut.com/l/_8TmZQ4hsYdvN
https://dl.doubtnut.com/l/_94XsAZuNwysE

4. A 025 M glucose solution at 370 . 28 K has
approxmately the pressure as blood does what is the

osmotic pressure of blood?

° Watch Video Solution

5. Calculated the molality of a solution containing 7.5 g
of glycine (NHy — CHy — COOH) dissolved in 500g

of water

o Watch Video Solution



https://dl.doubtnut.com/l/_ZLKbtOutGTAW
https://dl.doubtnut.com/l/_lhFxtur8PN7Y

6. Which solution has the lower freezing point ? 10 g of
methanol (CH30H) in 100 g of water ( or ) 20 g of

ethanol (CH,H;OH) in 200 g of water

o Watch Video Solution

7. How many moles of solute particles are present in

one litre of 10 ~* M potassium sulphate ?

° Watch Video Solution

8. Henry's law constant for solubility of methane In

benzene is 4.2 x 10~ >mm Hg at a particular constant


https://dl.doubtnut.com/l/_YwJqLsrxWayu
https://dl.doubtnut.com/l/_5veuJbpIDgWc
https://dl.doubtnut.com/l/_etr5bZYlMvZk

temperature At this temperature calculate the
solubility of methane at

(i) 750 mm Hg (ii) 840 mm Hg

° Watch Video Solution

9. The observed depression in freezing point of water
for a particular solution in 0.093°k calculate the
concentration of the solution in molality Given that

molal  depression  constant  for  water s

1.86 K KGmol !

o Watch Video Solution



https://dl.doubtnut.com/l/_etr5bZYlMvZk
https://dl.doubtnut.com/l/_qdwrwvsOzgId

10. The vapour pressure of pure benzene (CgHg) at a
given temperature is 640 mm Hg . 2.2 g of non -volatile
solute is added to 40 g of benzene. The vapour
pressure of the solution is 600 mm Hg . Calcultaed the

molar mass of the solute?

° Watch Video Solution

In Text Question Evaluate Yourself

1.1f 5.6 of KOH is present in (a) 500 mL and (b) 1 litre of

solution, calculate the molarity of each of these

solutions.

S |


https://dl.doubtnut.com/l/_BBuPiedh6sU5
https://dl.doubtnut.com/l/_cel95y8awUiF

l @ \VWatch Video S>olution ]

2. 2.82 g of glucose is dissolved in 30 g of water.

Calculate the mole fraction of glucose and water.

o Watch Video Solution

3. The antiseptic solution of iodopovidone for the use
of external application contains 10% w/v of
iodopovidone. Calculate the amount of iodopovidone

present in a typical dose of 1.5m L.

o Watch Video Solution



https://dl.doubtnut.com/l/_cel95y8awUiF
https://dl.doubtnut.com/l/_Jycxmfni15Lk
https://dl.doubtnut.com/l/_j3fYnCidUrbh

4. A litre of sea water weighing about 1.05kg contains 5
mg of dissolved oxygen (Os). Express the

concentration of dissolved oxygen in ppm.

o Watch Video Solution

5. Describe how would you prepare the following
solution from pure solute and solvent
(@) 1L of aqueous solution of 1. 5MCoCl,.

(b) 500 mL of 6.0 % (v /v) aqueous methanol solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_gTp3dz1pyCP0
https://dl.doubtnut.com/l/_MEmLjQwds16G

6. How much volume of 6 M solution of NaOH is

required to prepare 500 mL of 0.250 M NaOH solution.

o Watch Video Solution

7. Calculate the proporation of Oy N, dissolved in water
at 298K. When air containing 20 % O, and 80 % N, by
volume is in equilibrium with water at 1 atm pressure.
Henry's law constants for two gases are

Ky (0,) = 4.6 x 10*atm and Kg(N,) = 8.5 x 10*atm.

o Watch Video Solution



https://dl.doubtnut.com/l/_CjKwyfUNaTHw
https://dl.doubtnut.com/l/_hTHXt7eqoD2r

8. Explain why the aquatic species are more
conmfortable in cold water during winter season rather

than warm water during the summer.

o Watch Video Solution

9. Calculate the mole fraction of benzene and
naphthalene in the vapour phase when an ideal liquid
solution is formed by mixing 128 g of naphthalene with
39 g of benzene. It is given that the vapour pressure of
pure benzene is 50.71 mm Hg and the vapour pressure

of pure naphthalene is 32.06 mm Hg at 300 K.

o Watch Video Solution



https://dl.doubtnut.com/l/_haEoUisqsJrt
https://dl.doubtnut.com/l/_yq5ikCKHrpmL

10. Vapour pressure of a pure liquid A is 10.0 torr at
27°C. The vapour pressure is lowered to 9.0 torr on
dissolving one gram of B in 20g of A. If the molar mass

of Ais 200 g mol ~* then calculate the molar mass of B.

° Watch Video Solution

1. 2.56g of Sulphur is dissolved in 100g of carbon
disulphide. The solution boils at 319.692K. What is
the molecular formula of Sulphur in solution? The
boiling point of C'S; is 319.450K. Given that K for

CS, = 2.42Kkgmol !

o Watch Video Solution



https://dl.doubtnut.com/l/_Mf9RlBjmM2X4
https://dl.doubtnut.com/l/_Okxuir05Ofcf

12. 2g of a non electrolyte solute dissolved in 75g of
benzene lowered the freezing point of benzene by 0.20
k. The freezing point depression constant of benzene is

5.12K Kgmol . Find the molar mass of the solute.

° Watch Video Solution

13. What is the mass of glucose (CgH120g) in it one

litre solution which is isotonic with 6gL ! of urea

(NH,CONH,) ?

° Watch Video Solution



https://dl.doubtnut.com/l/_NyMXnHyACuhU
https://dl.doubtnut.com/l/_g7ynEvRpQcnX

14. 0.2m aqueous solution of KCl freezes at —0.68° C'
calculate vant Hoff factor. K; for water s

1.86Kkgmol ~*.

o Watch Video Solution

Additional Questions Solved Choose The Correct Answer

1. Among the following, which one is mostly present in

sea water ?

A. NacCl

B. Nal


https://dl.doubtnut.com/l/_DOLl0SVR1U1O
https://dl.doubtnut.com/l/_yQzyLWSMJQtu

C. KCl

D. MgB’I“Q

Answer: A

o Watch Video Solution

2. Statement I: The most common property of sea water
and air is homogeneity.
Statement [1l: The homogeneity implies uniform

distribution of their constituents through the mixture.

A. Statement | and Il are correct and Il is the correct

explanation of I.


https://dl.doubtnut.com/l/_yQzyLWSMJQtu
https://dl.doubtnut.com/l/_vZbDy3IWsxQV

B. Statements | and Il are correct but Il is not the

correct explanation of I.

C. Statement | is correct but Il is wrong.

D. Statement | is wrong but Il is correct.

Answer: A

o Watch Video Solution

3. Which one of the following is a homogeneous

mixture ?

A. Sea water

B. Air


https://dl.doubtnut.com/l/_vZbDy3IWsxQV
https://dl.doubtnut.com/l/_HJxiByUQzaHQ

C. Alloys

D. All the above

Answer: D

o Watch Video Solution

4. Statement I: Salt solution is an aqueous solution.

Statement I1l: If water is used as the solvent, the

resultant solution is called an aqueous solution.

A. Statements | and Il are correct but Il is not the

correct explanation of I.


https://dl.doubtnut.com/l/_HJxiByUQzaHQ
https://dl.doubtnut.com/l/_awKKAI4plBOj

B. Statement | and Il are correct and Il is the correct

explanation of I.

C. Statement | is correct but statement Il is wrong.

D. Statements | and Il are correct and Il is the

correct explanation of I.

Answer: B

o Watch Video Solution

5. Statement I: The dissolution of ammonium nitrate

increase steeply with increase in temperature.


https://dl.doubtnut.com/l/_awKKAI4plBOj
https://dl.doubtnut.com/l/_zzmVNnO0YSaV

Statement Il: The dissolution process of ammonium

nitrate is endothermic in nature.

A. Statement | and Il are correct and statement Il is

the correct explanation of statement |I.

B. Statement | and Il are correct but Il is not the

correct explanation of I.

C. Statement | is wrong but Il is wrong.

D. Statement | is wrong but Il is correct.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zzmVNnO0YSaV

6. In which of the following compound the solubility

decreases with increase of temperature ?

A. sodium chloride

B. ammonium nitrate

C. ceric sulphate

D. calcium chloride

Answer: C

° Watch Video Solution

7. Which of the following is not an ideal solution ?


https://dl.doubtnut.com/l/_yE0OaK2CdBQJ
https://dl.doubtnut.com/l/_AZZWmI5srqXI

A. Benzene & toluene

B. n-Hexane & n-Heptane

C. Ethyliodide & ethyl bromide

D. Ethanol and water

Answer: D

o Watch Video Solution

8. Which of the following shows positive deviation from

Raoult's law ?

A. Ethyloidide and Ethyl bromide

B. Ethyl aclochol and cyclohexane


https://dl.doubtnut.com/l/_AZZWmI5srqXI
https://dl.doubtnut.com/l/_e9u9BiTKDieV

C. Chloro benzene & cyclohexane

D. Benzen & toluene

Answer: B

o Watch Video Solution

9. Which of the following is not an non-ideal solution

showing positive deviation?

A. Benzene & acetone

B. CCl4&CHCIs

C. Acetone & ethyl alcohol

D. Benzene and toluene


https://dl.doubtnut.com/l/_e9u9BiTKDieV
https://dl.doubtnut.com/l/_DXDfVU5ur0NH

Answer: D

o Watch Video Solution

10. Which of the following shows negative deviation

from Raoult's law ?

A. Phenol and aniline

B. Benzene and toluene

C. Acetone and ethanol

D. Benzene and acetone

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DXDfVU5ur0NH
https://dl.doubtnut.com/l/_ZcJOv0LWyI08

11. Which of the following is not an non-ideal solution

showing negative deviation?

A. Phenol and aniline

B. Ethanol and water

C. Acetone + Chloroform

D. n-Heptane and n-Hexane

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ZcJOv0LWyI08
https://dl.doubtnut.com/l/_PAXOksa0WXor

12. Statement I: A solution of potassium chloride in
water deviates from ideal behaviour.
Statement 1l: The solute dissociates to give
K" and Cl~ ion which form strong ion dipole
interaction with water molecules.
A. 1) Statement | & Il are correct and Il is the correct
explanation of |
B. 2) Statement | & Il are correct but Il is not correct
explanation of |
C. 3) Statement | is wrong but statement Il is correct

D. 4) Statement | & Il are correct and Il is the correct

explanation of |


https://dl.doubtnut.com/l/_6bQSqMTcV4qy

Answer: A

° Watch Video Solution

13. Statement |: Acetic acid deviates from ideal
behaviour.
Statement II: Acetic acid exists as a dimer by forming
inter molecular hydrogen bonds and hence deviates
from Raoult's law.
A. Statement | & Il are correct and Il is the correct
explanation of |

B. Statement | & Il are correct but Il is not correct

explanation of |


https://dl.doubtnut.com/l/_6bQSqMTcV4qy
https://dl.doubtnut.com/l/_91AoYQPM3ax3

C. Statement | is wrong but statement Il is correct

D. Statement | & Il are correct and Il is the correct

explanation of |

Answer: A

o Watch Video Solution

14. Which one of the following has found to have

abnormal molar mass ?

A. 1) NaCl

B. 2) KCl

C. 3) Acetic acid


https://dl.doubtnut.com/l/_91AoYQPM3ax3
https://dl.doubtnut.com/l/_4VvhQ2AnVceg

D. 4) All the above

Answer: D

° Watch Video Solution

15. What would be the value of van't Hoff factor for a

dilute solution of K550, in water.

A.3

B.2

C.1

D.4


https://dl.doubtnut.com/l/_4VvhQ2AnVceg
https://dl.doubtnut.com/l/_55gjehizgFeB

Answer: A

O Watch Video Solution

16. In the determination of molar mass of A* B~ using
a colligative property, what may be the value of van't
Hoff factor if the solute is 50 % dissociates ?

A.0.5

B.1.5

C.2.5

D.1

Answer: B



https://dl.doubtnut.com/l/_55gjehizgFeB
https://dl.doubtnut.com/l/_NR9gM7wJqnqO

[ o Watch Video Solution

17. Which of the following solution has the highest

boiling point ?

A.1) 5.85 % solution of NaCl
B.2) 6.0 % solution of urea
C. 3) 18% solution of glucose

D. 4) All have same boiling point

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NR9gM7wJqnqO
https://dl.doubtnut.com/l/_2X1jEDALxjuw
https://dl.doubtnut.com/l/_q6l9yf7xBNpt

18. Which one of the following pair is called an ideal

solution ?

A. 1) nicotine-water

B. 2) water -ether

C. 3) water-alcohol

D. 4) Chlorobenzene-bromobenzene

Answer: D

o Watch Video Solution

19. Which of the following is not a colligative property ?

A. optical activity


https://dl.doubtnut.com/l/_q6l9yf7xBNpt
https://dl.doubtnut.com/l/_QBJ2uAa2so60

B. osmotic pressure

C. elevation boiling point

D. depression in freezzing point

Answer: A

o Watch Video Solution

20. On dissolving sugar in water at room temperature
solution feels cool to touch. Under which of the

following cases dissolution of sugar will be most rapid

?

A. Sugar crystals in cold water


https://dl.doubtnut.com/l/_QBJ2uAa2so60
https://dl.doubtnut.com/l/_m2YrFgWwbhtF

B. Sugar crystals in hot water
C. Powdered sugar in cold water

D. Powdered sugar in hot water

Answer: D

o Watch Video Solution

Additional Questions Solved Match The Following

1. Match the following.

List-11
Gold alloy

2. Br,n CCl,

List-1
Gaseous solution

Liquid solution

Solid solution Humid oxygen

|
7
3
4. Carbonated waler

SN0 ®m >

Non agueous solution


https://dl.doubtnut.com/l/_m2YrFgWwbhtF
https://dl.doubtnut.com/l/_LYj6tG4hjvIA

A A B C D
3 4 1 2
. A B C D
3 2 4 1
c A B C D
1 2 3 4
b A B C D
3 4 1 2
Answer: A

° Watch Video Solution

2. Match the following.

List-1 List-11

Solution of H, in palladium . Agqueous solution
Salt water Gaseous solulion
Camphor in nitrogen gas Solid solutions

Br, in CCl,

= - -
_Ja-'.-.r_l.l—

Liquid solunon


https://dl.doubtnut.com/l/_LYj6tG4hjvIA
https://dl.doubtnut.com/l/_aL8ljeVwir2Y

o
S N N

gy N oo g~
QP QA *®Q
Py Ry Ry ey

Answer:

° Watch Video Solution

3. Match the following.

i List-1 List-11
AL Complexometric titration 1. Mole fraction
B. Redox titration 2. Molanty
€. Vapour pressure calculation i ppm
D. Quantity of solutes in small amount 4. Normality

of solution calculation


https://dl.doubtnut.com/l/_aL8ljeVwir2Y
https://dl.doubtnut.com/l/_ZMeFa7faG8gx

N w >
w N =

O
o

Answer: C

° Watch Video Solution

4. Match the following.

List-1 List-11
A, Relative lowering of vapour pressure | AT, =K, m
] wiluily R ]—
B. Elevation of boiling point ] g=j DN .
[N
C.  Depression in [reezing point AT, =ik, . m

: 4 M sasbiing
D. Osmotic pressure
"uﬂ\ﬂll


https://dl.doubtnut.com/l/_ZMeFa7faG8gx
https://dl.doubtnut.com/l/_4HUbmVYAapkG

N w >

o
T L

PP YNm *W®
MQ QB QFQ
“gogHcrO Qg Mo

Answer: A

° Watch Video Solution

5. Match the following.

List-1 List-11
P - p )
A — 1. Depression in freezing point
pe
B AT, =K, .m 2. Lowening ol vapour pressure
CoOAT, =K, m 1 Osmolic pressure

D m=CRI1 4. Flevation in boling point


https://dl.doubtnut.com/l/_4HUbmVYAapkG
https://dl.doubtnut.com/l/_fv4cJlrdb2jl

AABCD
1 2 3 4
BABCD
2 4 1 3
CABCD
3 1 4 2
DABCD
4 3 2 1
Answer: B

o Watch Video Solution

Additional Questions Solved Fill In The Blanks

) R covers more than 70 % of the earth's surface.

° Watch Video Solution



https://dl.doubtnut.com/l/_fv4cJlrdb2jl
https://dl.doubtnut.com/l/_oma5Wy1Ak0Qa

2. . Is an important natural occurring solution.

o Watch Video Solution

3. An example of solid homogeneous mixture is ...

° Watch Video Solution

4. A mixture of Ny, O5, CO5 and other traces of gases

is known as ...........

o Watch Video Solution



https://dl.doubtnut.com/l/_oma5Wy1Ak0Qa
https://dl.doubtnut.com/l/_BWuW5SFlZNrb
https://dl.doubtnut.com/l/_RrjpDT4IlFlB
https://dl.doubtnut.com/l/_jKFfmarnNUcV
https://dl.doubtnut.com/l/_JPl9N63gVrAf

5. Which is a non-aqueous solution ?

° Watch Video Solution

6. oo is an example for gaseous solution.

o Watch Video Solution

7. is used for dental filling .

o Watch Video Solution

8. Carbonated water is an example for ...

| &


https://dl.doubtnut.com/l/_JPl9N63gVrAf
https://dl.doubtnut.com/l/_fDsOyBzADuhC
https://dl.doubtnut.com/l/_DeY2TGQTKizq
https://dl.doubtnut.com/l/_GEtHBInIA4h7

[ W Watch Video Solution J

9. Hynud oxygen is an example of ............

o View Text Solution

10. The concentration of commercially available H5O,

° Watch Video Solution

11. The molality of the solution containing 45 g of

glucose in 2 kg of water is ...

r- Y l


https://dl.doubtnut.com/l/_GEtHBInIA4h7
https://dl.doubtnut.com/l/_IbP45Oo6EQjH
https://dl.doubtnut.com/l/_4qWU5UDT0e50
https://dl.doubtnut.com/l/_dX7gv7ziBJbT

{ ™ vvald viaeo >50I1ution J

12.5.85 g of NaCl is dissolved in water and the solution
was made up to 500 mL using a standard flask. The

strengh of the solution in molarity is ...

o Watch Video Solution

13. 3.15 g of oxalic acid dihydrate is dissolved in water
and the solution was made up to 100 ml using a
standard flask. The strength of the solution in

normality is ............

o Watch Video Solution



https://dl.doubtnut.com/l/_dX7gv7ziBJbT
https://dl.doubtnut.com/l/_J80ATiBT6ppw
https://dl.doubtnut.com/l/_xnwqnIr9zjkl
https://dl.doubtnut.com/l/_XojWej6s4f2t

14.5.85 g of NaCl is dissolved in water and the solution
was made upto 500 ml using a standard flask. The

strength of the solution in formality is .............

o Watch Video Solution

15. Neomycin, amino glycoside antibiotic cream
contains 300 mg of neomycin sulphate the active
ingredient in 30 g of ointment base. The mass

percentage of neomycin is ...........

o Watch Video Solution



https://dl.doubtnut.com/l/_XojWej6s4f2t
https://dl.doubtnut.com/l/_fZCzZov7YBgt

16. 0.5 mole of ethanol is mixed with 1.5 mole of water.

Then the mole fraction of ethanol and water are

° Watch Video Solution

17. 50 mL tincture of benzoin, an antiseptic solution
contains 10 ml of benzoin. The volume percentage of

benzoin is ...

o Watch Video Solution



https://dl.doubtnut.com/l/_1wqTEYWiID9z
https://dl.doubtnut.com/l/_3DADZpH1sZeY

18. A 60 ml of parcentamol pediatric oral suspension
contains 3g of paracetamol. The mass percentage of

paracetamol is .............

° Watch Video Solution

19. 50 ml of tap water contains 20 mg of dissolved

solids. The TDS value in ppm is .............

o Watch Video Solution

20. The concentration term used in the neutralisation

reaction is ...



https://dl.doubtnut.com/l/_JlBQt4IWZGQj
https://dl.doubtnut.com/l/_lNe9rg7fVAgb
https://dl.doubtnut.com/l/_AzsIvug8mFHF

l @ Watch Video Solution J

21. The concentration term is used in the calculation of

vapour pressure of solution is ...

o Watch Video Solution

22. The term used to express the active ingredients

present in therapeutics is ...

o View Text Solution



https://dl.doubtnut.com/l/_AzsIvug8mFHF
https://dl.doubtnut.com/l/_Yrim3VjKrh9Y
https://dl.doubtnut.com/l/_wWFIvDbVFywT

23. When maximum amount of solute is dissolved in a

solvent at a given temperature, the solution is

o Watch Video Solution

24. The solvent in which sodium chloride readily

dissolves is ....u......

o Watch Video Solution

25, s is used by deep-sea divers.

o Watch Video Solution



https://dl.doubtnut.com/l/_1xWwJqZM0nwy
https://dl.doubtnut.com/l/_3b4MI7xtdoph
https://dl.doubtnut.com/l/_8YHyfKWJYvbP

26. The mathematical expression of Raoult's law is

o Watch Video Solution

.y is an ideal solution ?

o Watch Video Solution

28. .. is important in some vital biological

systems.

° View Text Solution



https://dl.doubtnut.com/l/_8YHyfKWJYvbP
https://dl.doubtnut.com/l/_vTjZG2k5LjOP
https://dl.doubtnut.com/l/_9U6yJRNU4V8C
https://dl.doubtnut.com/l/_tWhZRio6DPI6

29. Which of the following is not a colligative property ?

o Watch Video Solution

30. According to van't Hoff equation, the value of

osmotic pressure 7 is equal to ..ccerrerrnnenn.

° Watch Video Solution

31. The osmotic pressure of the blood cells is

approximately equal to ... at 37°C.

o Watch Video Solution



https://dl.doubtnut.com/l/_tWhZRio6DPI6
https://dl.doubtnut.com/l/_LtkftggXoi1a
https://dl.doubtnut.com/l/_DJLSj2cShQai
https://dl.doubtnut.com/l/_FL9kC8x2KfC4

32. Which one of the following is applied in water

purification ?

° View Text Solution

33. In commerical reverse osmosis process, the semi

permeable membrane used is ....crn

° Watch Video Solution

34.The degree of dissociation «a is equal to ...

° Watch Video Solution



https://dl.doubtnut.com/l/_FL9kC8x2KfC4
https://dl.doubtnut.com/l/_LcOtGTcW2gZk
https://dl.doubtnut.com/l/_9ISG4YF9owaD
https://dl.doubtnut.com/l/_R3eexCSm5PS9

35. The degree of association « is equal to ...

o Watch Video Solution

36. The estimated van't Hoff factor for acetic acid

solution in benzene is ...............

o Watch Video Solution

37. The estimated van't Hoff factor for sodium chloride

IN Water iS . eeeeeeeeeennn

° Watch Video Solution



https://dl.doubtnut.com/l/_VMgVHcdNbTBb
https://dl.doubtnut.com/l/_yHlQPTeTN4uN
https://dl.doubtnut.com/l/_eYy2bTXm9Juz
https://dl.doubtnut.com/l/_DQ5Oc1QxwE5u

38. Number of moles of the solute dissolved per dm? of

solution is ...

o Watch Video Solution

39. Molarity of pure water is .............

° Watch Video Solution

40. 18 g of glucose is dissolved in 90 g of water. The

relative lowering of vapour pressure is equal to ...

° Watch Video Solution



https://dl.doubtnut.com/l/_DQ5Oc1QxwE5u
https://dl.doubtnut.com/l/_2QNmkeCyOJu8
https://dl.doubtnut.com/l/_IeVhhf2sNvCo
https://dl.doubtnut.com/l/_Vy2LcWyAiKWb

41. When NaCl is dissolved in water, boiling point

o Watch Video Solution

42. Use of glycol as antifreezer in automobile is an

important application of ...

° Watch Video Solution

43. Ethylene glycol is mixed with water and used as

antifreezer in radiators because ...

° Watch Video Solution



https://dl.doubtnut.com/l/_Vy2LcWyAiKWb
https://dl.doubtnut.com/l/_XMPSGnNrgQJl
https://dl.doubtnut.com/l/_y5Hs4YhAZYTv

44, Colligative properties of a solution depend in

.................... present in it.

° Watch Video Solution

45. Low concentration of oxygen in the blood and

tissue of people living at high altitude is due to

° Watch Video Solution

Additional Questions Solved Odd One Out


https://dl.doubtnut.com/l/_y5Hs4YhAZYTv
https://dl.doubtnut.com/l/_RE72tScivOo3
https://dl.doubtnut.com/l/_Fl7SHJ2SFtIl
https://dl.doubtnut.com/l/_tEGuGT0y8aaZ

1. Choose the odd one out

A. Air

B. Camphor in nitrogen gas

C. Humid oxygen

D. Salt water

Answer: D

o Watch Video Solution

2.Choose the odd one out

A. CO, dissolve in water


https://dl.doubtnut.com/l/_tEGuGT0y8aaZ
https://dl.doubtnut.com/l/_V5cgh4fG5yON

B. Salt water

C. Solution of Hj in palladium

D. Ethanol dissolved in water

Answer: C

o Watch Video Solution

3. Choose the odd one out

A. 1) Amalgam of potassium

B. 2) Camphor in nitrogen gas

C. 3) Solution of H, in palladium

D. 4) gold alloy


https://dl.doubtnut.com/l/_V5cgh4fG5yON
https://dl.doubtnut.com/l/_ntlU5zmQB8s1

Answer: B

° Watch Video Solution

4, Choose the odd one out

A. 1) Vapour pressure

B. 2) Lowering of vapour pressure

C. 3) Osmotic pressure

D. 4) Elevation of boiling point

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ntlU5zmQB8s1
https://dl.doubtnut.com/l/_Pb3nqGWeSFC2

5.Choose the odd one out

A.1) Benzene and toluene

B. 2) Chlorobenzene and Bromobenzene

C.3) Benzene and acetone

D. 4) n-hexane and n-heptane

Answer: A

o Watch Video Solution

6. Choose the odd one out

A. 1) Ethyl alcohol and cyclohexane


https://dl.doubtnut.com/l/_B8meQRfGhRxM
https://dl.doubtnut.com/l/_HmbmYg1TgkVr

B. 2) Ethyl bromide and ethyl iodide

C. 3) Acetone and ethyl alcohol

D. 4) Benzene and acetone

Answer: A

o Watch Video Solution

Additional Questions Solved Correct Pair

1. Choose the correct pair

A. Humid oxygen : Liquid solution

B. Gold alloy : Solid solution


https://dl.doubtnut.com/l/_HmbmYg1TgkVr
https://dl.doubtnut.com/l/_gfpSJxhCEDcB

C. Salt water : Gaseous solution

D. Solution of Hy in palladium : Gaseous solution

Answer: B

o Watch Video Solution

2. Choose the correct pair

A. Air : Gaseous solution

B. Amalgam of potassium : Liquid solution

C. Salt water : Solid solution

D. Carbonated water : Solid solution


https://dl.doubtnut.com/l/_gfpSJxhCEDcB
https://dl.doubtnut.com/l/_BKDWHjUBE6Hu

Answer: A

° Watch Video Solution

3. Choose the correct pair

A. 1) Benzene and acetone : Non-ideal solution

B. Benzene and acetone : Non-ideal solution

C. Chlorobenzene and bromo benzene : Non-ideal

solution

D. Carbon tetrachloride and Chloroform: Idela

solution


https://dl.doubtnut.com/l/_BKDWHjUBE6Hu
https://dl.doubtnut.com/l/_RYGew2aSN4pY

Answer: B

° Watch Video Solution

4. Choose the correct pair

A. 1) Benzene and toluene : Ideal solution

B. 2) Ethyl alcohol+water : Ideal solution

C.3) Ethyl iodide and ethyl bromide : Non ideal

soluton

D. 4) Chlorobenzene and bromo benzene : Non-ideal

solution


https://dl.doubtnut.com/l/_RYGew2aSN4pY
https://dl.doubtnut.com/l/_gJmkd0CmBDgE

Answer: A

° Watch Video Solution

Additional Questions Solved Incorrect Pair

1. Choose the incorrect pair

A.m = CRT : Osmotic pressure

Kf X WB x 1000
B. ATy = :  Depression in
MB X WA

freezing point

KWy x 1000
C. ATy, = : Elevation in boiling
My x Wp



https://dl.doubtnut.com/l/_gJmkd0CmBDgE
https://dl.doubtnut.com/l/_xs5lTOIMsguR

o AP _ Wg x My
"P?  MpxWsg

: Relative lowering of vapour

pressure

Answer: C

o Watch Video Solution

2. Choose the incorrect pair

A. 1) Benzene and acetone : Ideal solution

B.2) Ethyl alcohol and cyclohexane : Non-ideal

solution

C. 3) n-hexane and n-heptane : Ideal solution


https://dl.doubtnut.com/l/_xs5lTOIMsguR
https://dl.doubtnut.com/l/_aWbvaUWygLxd

D.4) Chloro benzene and bromobenzene : Ideal

solution

Answer: A

° Watch Video Solution

Additional Questions Solved Assertion Reason

1. Assertion : When NaCl is added to water, a
depression in freezing point is observed.
Reason: The lowering of vapour pressure of a solution

causes the depression in freezing point.


https://dl.doubtnut.com/l/_aWbvaUWygLxd
https://dl.doubtnut.com/l/_VQrrOQG8w3uc

A. Assertion and Reason are correct and R is the

correct explanation of A.

B.Both A and R are correct R is not the correct

explanation of A.

C.Ais correct but R is wrong

D. Ais wrong but R is correct

Answer: A

o Watch Video Solution

2. Assertion : Ammonia reacts with water does not obey

Henry's law.


https://dl.doubtnut.com/l/_VQrrOQG8w3uc
https://dl.doubtnut.com/l/_8vwtG4wLAINF

Reason : The gases reacting with the solvent does not

obey Henry's law.

A. 1) Assertion and Reason are correct and R is the

correct explanation of A.

B.2) Both A and R are correct R is not the correct

explanation of A.

C.3) Ais correct but R is wrong

D.4) Ais wrong but R is correct

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8vwtG4wLAINF

3. Statement I: Acetic acid deviates from ideal

behaviour.
Statement II: Acetic acid exists as a dimer by forming
inter molecular hydrogen bonds and hence deviates
from Raoult's law.
A. Assertion and Reason are correct and R is the
correct explanation of A.
B.Both A and R are correct R is not the correct
explanation of A.

C.Ais correct but R is wrong

D. Ais wrong but R is correct


https://dl.doubtnut.com/l/_0jT1J8hDlS3V

Answer: B

° Watch Video Solution

Additional Questions Solved Correct Statement

1. Choose the correct statement.

A. 1) Raoult's law is applicable to volatile solid solute

in liquid solvent

B. 2) Henry's law is applicable to solution containing

solid solute in liquid solvent


https://dl.doubtnut.com/l/_0jT1J8hDlS3V
https://dl.doubtnut.com/l/_JLcGXyXkJOqv

C.3) For very dilute solutions, the solvent obeys

Raoult's law and the solute obeys Henry's law.

D. 4) For saturated solution containing volatile solid

solute in liquid solvent both laws are obeyed.

Answer: C

° Watch Video Solution

Additional Questions Solved 2 Marks Questions

1. What is the common property observed in naturally

existing solution? Explain it.

.Y l


https://dl.doubtnut.com/l/_JLcGXyXkJOqv
https://dl.doubtnut.com/l/_JTm5mKguoZ6d

| ¥ Vvvatch video osolution

2. Define solution.Explain with an example.

o Watch Video Solution

3. What is aqueous and non - aqueous solution ?

o Watch Video Solution

4, Define

Molality

o Watch Video Solution



https://dl.doubtnut.com/l/_JTm5mKguoZ6d
https://dl.doubtnut.com/l/_AbDu8v21IwgX
https://dl.doubtnut.com/l/_1D3mTFBt5KgI
https://dl.doubtnut.com/l/_IvQsUWIWebld

5. Define molarity.

o Watch Video Solution

6. Define normality.

o Watch Video Solution

7. Define formality.

° Watch Video Solution

8. Define mole fraction.


https://dl.doubtnut.com/l/_uh0AcOmULM58
https://dl.doubtnut.com/l/_ImX9KvSaVwkl
https://dl.doubtnut.com/l/_YRro1Gkf7b0w
https://dl.doubtnut.com/l/_nSTzIe13DoFN

° Watch Video Solution

9. Show that the sum of mole fraction of a solution is

equal to one.

o Watch Video Solution

10. Define Mass percentage?

o Watch Video Solution

11. Define Volume percentage .

o Watch Video Solution



https://dl.doubtnut.com/l/_nSTzIe13DoFN
https://dl.doubtnut.com/l/_iJW8vQUHCkFu
https://dl.doubtnut.com/l/_MGYuz3Nk2j4Q
https://dl.doubtnut.com/l/_fYs4lMlC1I53

12. Define mass by volume percentage.

o Watch Video Solution

13. What is meant by ppm? Where is it used ?

o Watch Video Solution

14. What is mean by stock solution (or) standard

solution ? what is meant by working standard?

° Watch Video Solution



https://dl.doubtnut.com/l/_fYs4lMlC1I53
https://dl.doubtnut.com/l/_M4MOa5nR9uGm
https://dl.doubtnut.com/l/_Tn4jyITlXOcz
https://dl.doubtnut.com/l/_OKvy1CYHjq75
https://dl.doubtnut.com/l/_Bk3qG2Z6NrPj

15. Define solubility

o Watch Video Solution

16. Ammonia is more soluble than oxygen in water. Why

?

o Watch Video Solution

17. Solubility of solid solute in a liquid solvent increases

with increase in

° Watch Video Solution



https://dl.doubtnut.com/l/_Bk3qG2Z6NrPj
https://dl.doubtnut.com/l/_eu9MrsUrE0Qa
https://dl.doubtnut.com/l/_9G4sfbHglXTs
https://dl.doubtnut.com/l/_RfPRWRaf4Foh

18. Dissolution of ammonium nitrate increases with

increase in temperature. why ?

o Watch Video Solution

19. Explain the solubilities of ammonium nitrate,
‘calcium chloride, ceric sulphate and sodium chloride in

water at different temperature with a graph.

o Watch Video Solution

20. In which of the following compound the solubility

decreases with increase of temperature ?

.Y l


https://dl.doubtnut.com/l/_RfPRWRaf4Foh
https://dl.doubtnut.com/l/_nOVXFeOQa7VR
https://dl.doubtnut.com/l/_VAsBFnbJWwW2
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21. Why the carbonated drinks are stored in pressurized

container ?

o Watch Video Solution

22. Which of the following processes add water vapour
to the atmosphere?
(i) Transpiration (ii) Precipitation (iii)) Condensation (iv)

Evaporation

o Watch Video Solution



https://dl.doubtnut.com/l/_VAsBFnbJWwW2
https://dl.doubtnut.com/l/_iK19ODe40G6y
https://dl.doubtnut.com/l/_cjdqE9QRLDD3

23. state Dalton's law of partial pressure.

o Watch Video Solution

24, Define relative lowering of vapour pressure.

o Watch Video Solution

25. What are ideal solution ? Give example.

° Watch Video Solution

26. What are non-ideal solution ? Give example.


https://dl.doubtnut.com/l/_s2oLhRYhrfjC
https://dl.doubtnut.com/l/_I2UmRecOhEqa
https://dl.doubtnut.com/l/_r75YnSQMAzws
https://dl.doubtnut.com/l/_lyEkjrockCfV

° Watch Video Solution

27. What are colligative properties?

o Watch Video Solution

28. Define the Elevation of boiling point

o Watch Video Solution

29. Define the Ebullioscopic constant

o Watch Video Solution



https://dl.doubtnut.com/l/_lyEkjrockCfV
https://dl.doubtnut.com/l/_kAA0qELMWpkD
https://dl.doubtnut.com/l/_mRc9e4YeJdMt
https://dl.doubtnut.com/l/_pOMzp7Wux1ns

30. What is osmotic pressure?

o Watch Video Solution

31. Write the Van't Hoff equation of osmotic pressure.

o Watch Video Solution

32. Define Van't Hoff factor.

° Watch Video Solution



https://dl.doubtnut.com/l/_hSYzxuKRQIoj
https://dl.doubtnut.com/l/_a2MA17vRI6M9
https://dl.doubtnut.com/l/_1BUGSjRKwzcY

33. How is degree of dissociation and degree of

association are related with van't Hoff factor ?

o Watch Video Solution

34. Given an example of a solid solution in which the

solute is gas.

o Watch Video Solution

35. What role does the molecular interaction play in

solution of alcohol and water?

o Watch Video Solution



https://dl.doubtnut.com/l/_ChY6yaZpissR
https://dl.doubtnut.com/l/_1Qnf1WAlMbst
https://dl.doubtnut.com/l/_QUoIktPJ4ToS

36. Why do gases always tend to be less soluble in

liquids as the temperature is raised ?

o Watch Video Solution

37. Why is the freezing point depresslon of 0.1M Nacl

solution nearly twice that of 0.1M glocose solution ?

o Watch Video Solution

38. Why a person surffering from high blood pressure

is advised to take minimum quantity of common salt ?

[ e |


https://dl.doubtnut.com/l/_QUoIktPJ4ToS
https://dl.doubtnut.com/l/_FkpPKVK0SlTX
https://dl.doubtnut.com/l/_jTkxY8kguj3m
https://dl.doubtnut.com/l/_zGuwPy8CvDEi
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Additional Questions Solved 3 Marks Questions

1. What are gaseous solution ? Give its various types

with example.

o Watch Video Solution

2. What are liquid solutions ? Explain with example.

o Watch Video Solution



https://dl.doubtnut.com/l/_zGuwPy8CvDEi
https://dl.doubtnut.com/l/_zXG6eteb05oY
https://dl.doubtnut.com/l/_dfkAfXAWk2hK

3. What are ideal solution ? Give example.

o Watch Video Solution

4. How will you prepare a standard solution ?

o Watch Video Solution

5. What are the advantages of standard solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_azLlqwAyn2e7
https://dl.doubtnut.com/l/_qDSPQtISVPOo
https://dl.doubtnut.com/l/_90cIJSn5WRO4

6. Explain the solubilities of ammonium nitrate, 'calcium
chloride, ceric sulphate and sodium chloride in water at

different temperature with a graph.

° Watch Video Solution

7. What happen in case of gaseous solute in liquid

solvent the solibility with increase in temperature?

o Watch Video Solution

8. Give reason why aquatic species are less sustained in

hot water ?



https://dl.doubtnut.com/l/_2GwD0inkNsv4
https://dl.doubtnut.com/l/_lvCyWOsSgWBB
https://dl.doubtnut.com/l/_eiTCJJ1SwSNl
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9. Deep-sea divers use air diluted with helium gas in

their tanks. Why ? (or) Justify this statement.

o Watch Video Solution

10. What are the limitations of Henry's law?

o Watch Video Solution

11. Which of the following shows negative deviation

from Raoult's law ?

| e |


https://dl.doubtnut.com/l/_eiTCJJ1SwSNl
https://dl.doubtnut.com/l/_TOITkaYzGucI
https://dl.doubtnut.com/l/_0Yqegk6qtUfU
https://dl.doubtnut.com/l/_y3fIje8mJLCj
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12. Derive the relationship between the elevation of

boiling point and molar mass of non-volatile solute.

o Watch Video Solution

13. How would you campare Raoult's law and Henry's

law.

o Watch Video Solution

14. What are the necessary conditions for an ideal

solution? Give two example.


https://dl.doubtnut.com/l/_y3fIje8mJLCj
https://dl.doubtnut.com/l/_i7i4UHYx0TdD
https://dl.doubtnut.com/l/_YP1Jyy1W8hCR
https://dl.doubtnut.com/l/_eVrfeffgt41S

° Watch Video Solution

15. Which of the following shows positive deviation

from Raoult's law ?

° Watch Video Solution

16. Which of the following shows negative deviation

from Raoult's law ?

o Watch Video Solution



https://dl.doubtnut.com/l/_eVrfeffgt41S
https://dl.doubtnut.com/l/_jmjlVwBGXw6m
https://dl.doubtnut.com/l/_ifUMKVeenAxb

17. Explain why boiling point of solution is greater than

that of pure solvent ?

o Watch Video Solution

18. Define relative lowering of vapour pressure.

o Watch Video Solution

19. Explain why boiling point of solution is greater than

that of pure solvent ?

° Watch Video Solution



https://dl.doubtnut.com/l/_1GpmQGGSAglG
https://dl.doubtnut.com/l/_67AD5RKl01FM
https://dl.doubtnut.com/l/_COa3aOalaTei
https://dl.doubtnut.com/l/_5EPEcEmFjhYh

20. Graphically prove that T}, is greater than 7,°.

1.50 = . _
Boiling point elevation
L]

i

g

Pressure (aim)

=

L i
=]
|

0.00

0 40 B0 120 140 160
Tempgrlture (C)

° Watch Video Solution

21. Derive the relationship between the elevation of

boiling point and molar mass of non-volatile solute.

° Watch Video Solution



https://dl.doubtnut.com/l/_5EPEcEmFjhYh
https://dl.doubtnut.com/l/_QlSQnSBCvNph
https://dl.doubtnut.com/l/_B3pA2Ei2UGtc

22. Write short note an freezing point depression in

freezing point and cryoscopic constant.

o Watch Video Solution

23. Define (i) cryoscopic constant (ii) ebullioscopic

constant

° Watch Video Solution

24. Discuss the significances of osmotic-pressure over

other colligative properties.

° Watch Video Solution



https://dl.doubtnut.com/l/_B3pA2Ei2UGtc
https://dl.doubtnut.com/l/_ED9ZK8HXWYnP
https://dl.doubtnut.com/l/_Q5aLFoUJBw1i

25. What is haemolysis? Why intravenous fluid are

isotonic to blood ?

° Watch Video Solution

26. What is reverse osmosis?

o Watch Video Solution

27. Explain about the application of reverse osmosis in

water purification.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q5aLFoUJBw1i
https://dl.doubtnut.com/l/_MQQw0HzmbQFE
https://dl.doubtnut.com/l/_a9xoXDGpR8ZU
https://dl.doubtnut.com/l/_dM91A4gAz7ps

28. Acetic acid is found to have molar mass as 120 g

mol L. Prove it.

o Watch Video Solution

29. Prove that the depression in freezing point is a

colligative property.

o Watch Video Solution

30. The estimated van't Hoff factor for acetic acid

solution in benzene is ...............

o Watch Video Solution



https://dl.doubtnut.com/l/_aJ5177ytrHrO
https://dl.doubtnut.com/l/_eSGgfD14P0Ai
https://dl.doubtnut.com/l/_1OuDVwLZLsnQ

31. Distinguish between ideal and non-ideal solution.

o Watch Video Solution

) 2 z<1
32. The function f(x) = s paq1 S

differentiable at ...........

not

o Watch Video Solution

33. State Henry's law and mention some of

important applications.

its

o Watch Video Solution



https://dl.doubtnut.com/l/_1OuDVwLZLsnQ
https://dl.doubtnut.com/l/_bCMJ6ftDj3iH
https://dl.doubtnut.com/l/_awcd18794tNY
https://dl.doubtnut.com/l/_iuvTnruPIRiK

34. What type of non-idealities are exhibited by
cyclohexane-ethanol and acetone-chloroform mixture ?

Give reason for your answer.

° Watch Video Solution

35. Given below is the sketch of a plant for carrying out

a process.
Fislon
Prossurs > £ v
i ‘ Frosh San J
YWatar W
oLillat
J:I'
e
SPM

(i) Name the process occuring in the above plant.


https://dl.doubtnut.com/l/_iuvTnruPIRiK
https://dl.doubtnut.com/l/_sdi2VMEy3GgF
https://dl.doubtnut.com/l/_NsV9WMY05vmm

(ii) To which containeer does the net flow of solvent
take place ?
(iii) Name one SPM which can be used in this plant.

(iv) Give one practical use of the plant.

° Watch Video Solution

36. Define the term osmotic pressure. Describe how the
molecular mass of a substance can be determined by a

method based on measurement of osmotic pressure ?

° Watch Video Solution



https://dl.doubtnut.com/l/_NsV9WMY05vmm
https://dl.doubtnut.com/l/_nu9aNXZiWWRn

37. (a) Menthol is a crystalline substance with
peppermint taste. A.6.2% solution of menthol in
cyclohexane freezes at —1.95°C. Determine the
formula mass of menthol. The freezing point and molar
depression constant of cyclohexane are
6.5°C and 20.2Km !, respectively.

(b) State Henry's Law and mention its two important
applications.

(c ) Which of the following has higher boiling point and

why ? 0.1M NaCl or 0.1M Glucose

o View Text Solution

38. The specific heat of water is


https://dl.doubtnut.com/l/_TkvStI20D0hz
https://dl.doubtnut.com/l/_pzHRBUbWvT9V

o Watch Video Solution

39. State Henry's law for slubility of a gas in a liquid.
Explain the significance of Henry's law constnat (Kp).
At the same temperatue, hydrogen is more soluble in
water than helium. Which of them will have a higer

value of Ky and Why?

o Watch Video Solution

40. What is meant by positive and negative deviations
from Raoult's law and how is the sign of AH,,;, related

to positive and negative deviations from Raoult's law?

S |


https://dl.doubtnut.com/l/_pzHRBUbWvT9V
https://dl.doubtnut.com/l/_uJ5212EH2VcY
https://dl.doubtnut.com/l/_7Iff8V4zIYTv
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Additional Questions Solved 5 Marks Questions

1. (i) Define solution.

(ii) Explain the types of solutions with suitable example.

o Watch Video Solution

2. (i) Define Solubility
(ii) Explain about the factors that influences the

solubility

o Watch Video Solution



https://dl.doubtnut.com/l/_7Iff8V4zIYTv
https://dl.doubtnut.com/l/_1ngoSg5O4iAC
https://dl.doubtnut.com/l/_USYweoazyWbC

3. Which of the following shows positive deviation from

Raoult's law ?

o Watch Video Solution

4. How would you determine molar mass from relative

lowering of vapour pressure.

o Watch Video Solution

5. How would you determine molar mass from relative

lowering of vapour pressure.

o Watch Video Solution



https://dl.doubtnut.com/l/_nYfEuqtzDYpm
https://dl.doubtnut.com/l/_zcH3XXGwzfDe
https://dl.doubtnut.com/l/_xvLowOqFG3dt

6. What are non-ideal solution ? Give example.

o Watch Video Solution

7. Which of the following shows positive deviation from

Raoult's law ?

o Watch Video Solution

8. Calculate the gram molecular mass of the following

NH,

° Watch Video Solution



https://dl.doubtnut.com/l/_xvLowOqFG3dt
https://dl.doubtnut.com/l/_V4nboblD4u3a
https://dl.doubtnut.com/l/_k6YqF4NWhF9z
https://dl.doubtnut.com/l/_OdJBul6HPzpy

Additional Questions Solved Numerical Problems

1. Calculate the mole fraction of benzene is solution

containing 30 % by mass in carbon tetrachloride.

o Watch Video Solution

2. Calculate the molarity of each of the following

solutions:

o View Text Solution



https://dl.doubtnut.com/l/_OdJBul6HPzpy
https://dl.doubtnut.com/l/_HtU7UL3xmKng
https://dl.doubtnut.com/l/_ha9o4MWNA4Ry

3. Calculate the mass of urea (NHy,CONH,) required

in making 2.5kg of 0.25 molar aqueous solution.

o Watch Video Solution

4. H,S a toxic gas with rotten egg like smell, is used for
the qualitative analysis. If the solubility of HyS in water

at STP is 0.195 m. Calculate Henry's law constant.

° Watch Video Solution

5. Vapour pressure of pure water at 298 K is 23.8 mm

Hg. 50 g of urea (NHy,CON H,) is dissolved is 850 g of


https://dl.doubtnut.com/l/_2ZnWpZy2W1nM
https://dl.doubtnut.com/l/_D9l3FlLAo1r3
https://dl.doubtnut.com/l/_kfF59wgkHZaH

water. Calculate the vapour pressure of water for this

solution and its relative lowering.

o Watch Video Solution

6. Boiling point of water at 750 mm Hg is 99.63° C.
How much sucrose is to be added to 500 g or water

such that it boils at 100° C ?

o Watch Video Solution

7. Concentrated nitric acid used in laboratory work is

68 % nitric acid by mass in aqueous solution. What


https://dl.doubtnut.com/l/_kfF59wgkHZaH
https://dl.doubtnut.com/l/_1o8aE6tqG6xz
https://dl.doubtnut.com/l/_pyoFA2fVGSt3

should be the molarity of such a sample of the acid if

the density of the solution is 1.50gmL ! ?

o Watch Video Solution

8. A solution is obtained by mixing 300 g of 25 %
solution and 400 g of 40 % solution by mass. Calculate

the mass percentage of the resulting solution.

o Watch Video Solution

9. A sample of drinking water was found to be severely
contaminated with chloroform (CHCI3) supposed to

be a carcinogen. The level of contamination was 15 ppm


https://dl.doubtnut.com/l/_pyoFA2fVGSt3
https://dl.doubtnut.com/l/_ySRstEAv93lC
https://dl.doubtnut.com/l/_A9goij4dQIvJ

(by mass)
(i) express this in percentage by mass
(i) determine the molality of chloroform in the water

sample.

° Watch Video Solution

10. An aqueous solution of 2% nonvolatile solute
exerts a pressure of 1. 004 bar at the boiling point of
the solvent. What is the molar mass of the solute when

Pj is 1.013 bar ?

o Watch Video Solution



https://dl.doubtnut.com/l/_A9goij4dQIvJ
https://dl.doubtnut.com/l/_QTcSROuImgrL

1. A5 % solution (by mass) of cane sugar in water has
freezing point of 271 K. Calculatge the freezing point of
5% glucose in water if freezing point of pure water is

273.15K

° Watch Video Solution

12. Calculate the amount of benzoic acid
(CeHsCOOH) required for preparing 250 mL of

0.15M solution in methanol.

° Watch Video Solution



https://dl.doubtnut.com/l/_Bq22bZmAMrEL
https://dl.doubtnut.com/l/_TiLKjNT4oqju

13. A solution containing 8 g of a substance in 100 g of
diethyl ether boils at 36.86° C', whereas pure ether
boils at 35.60° C'. Determine the molecular mass of the

solute (For ether K = 2.02Kkgmol_1)

o Watch Video Solution

14. Ethylene glycol (molar mass = 62 gmol_l) is a
common automobile antifreeze. Calculate the freezing
point of a solution containing 12.4 of this substance in
100 g of water. Would it be advisable to keep this
substance in the car radiator during summer? (K for
water= 1.86kkg / mol) (K, for water

= 0.512Kkg /mol. )


https://dl.doubtnut.com/l/_PltBNTH5acQf
https://dl.doubtnut.com/l/_k51d8xK98lFz

° Watch Video Solution

15.15.0g of an unknown molecular material is dissolved
in 450g of water. The resulting solution freezes at
—0.34°C. What is the molar mass of the material?

K;f or water=186K kg mol”(-1).

° Watch Video Solution



https://dl.doubtnut.com/l/_k51d8xK98lFz
https://dl.doubtnut.com/l/_Sv1mNd0K8RQv

